Magnescales

VIAATYF/MAGNESWITCH"

£ +/SET— P15-1

. P15-2+ P15.3

Hu#R 5% BA # /Instruction Manual

IOLURSHMEEBRETVALERCHYIESITVET, FERACE
BRI, COMMBIAMEREE TERA( L3V, ¥ LTKRYPCRFLTCE
&y,

B—ErERER

MTFRUHBEEEL  BFEVELBO—HRMNEBFHETIO T, BA4NFRAY
BB LEDEEIE. AREFHARCDRS N BERRUERE I LA L TUWDEH
BAERIEICEL, ELULHBIEVWATEE - BRAVEKLET,

O AU IIIRIEREIZ (L, UHBADBAERUMELVERICFHL TWSH I L 4

RLTHLIFERTEL,

o LUHBEANFT—HEL-BE, FEOBELHLT 2-OOKFLRENRE

BLTIFERTIL,

O (IR E N BRUN TOER LIS A I N BRI OV TS, BEER

UtEBENRIEIIHR FEADTITERT S W,

o UHBIR AN L HEE TIHERICABHE. FAKM. BRELIICLY

EOBEERUMENBREINLVEEHNDHY FTOTEF IRITOLIERT
S,

BERYHRVEDTER
eiigE (PKI5) (3. BREEICS Y SMEERINTHY 2T, BRELERO

FELWMEEDO bDE ZERTE L,

IR L L URBAICHEE L THBHE (Y72 y bFrvi%) AET0L

WTTFEW,

oixHaE (PKI5) O — 7L AESIR-12 0 FRUBMLAY LAWTTEL,
OTERPHNREFTLIERL T & RIFEXLIHBOFHL L5 HEH

HYET, EBLLVEECHIH,INECLEEREL TTaIWL,

o REKICYIREN I N D L I LB TERT 2B I, REKICRENN—%

FEZ L. &5ICHREBICETA /83— (PZ3FIFE) 2B TIHERATE L,

o BET., BEE. RELEELY, ERHNOEMEEITTTIL,
O KBMNHIRNIEREIC & - TiE, HEENBET 2 0HY £ TOTHEIRN L

ZERAT S,

BRE

v FPI5ISIEHEE (PKI5) & Rk (PG-104) A SRS h, REMEDOMLES
EBHEECKRHL TR v FERFS U EEMBRTIRRA A v FTY, ML 8
B. SRCEM. WREMFOFHEBLTVET, X A1 v FONRIZIILED
DEITIZE Y BEREESEA R E T,

B4 HEEE/OUTPUT CIRCUIT DIAGRAM

NOTES TO USERS

Read all instructions carefully before starting assembly and use.
Save this MANUAL for future reference.

General Precautions

When using Magnescale Co., Ltd. products, observe the following

general precautions along with those given specifically in this manual to

ensure proper use of the products.

® Before and during operations, be sure to check that our products
function properly.

® Provide adequate safety measures to prevent damages in case
our products should develop malfunction.

® Use outside indicated specifications or purposes and modifica-
tion of our products will void any warranty of the functions and
performance as specified of our products.

® When using our products in combination with other equipment,
the functions and performance as noted in this manual may not
be attained, depending upon operating environmental conditions.
Make full study of the compatibility in advance.

OPERATING CAUTIONS

e Three different models of the PK15 are available according to the
line voltage employed. Use the right model.

o Do not bring the PK15 and PG-104 close to any magnetic field
(Magnet-chuck etc.).

o Do not pull the PK15’s cable or otherwise apply excessive force
to it.

® Do not locate the cable parallel to high-voltage lines or the like to
avoid possible malfunctions or causes of damages. Locate the
cable away enough or in metal pipe.

e When the MAGNESWITCH is exposed to chips, provide a cover
to the PG-104 and the PZ3 Wiper to the detector.

e Do not allow the loads, voltages, temperatures, etc. to exceed
the rating.

® Some water-soluble coolants may melt the resin of which the
MAGNESWITCH products are made. Make sure the coolant you
use does not.

OUTLINE

The MAGNESWITCH is a non-contact type magnetic switch consisting of
the PK15 detector and the PG-104 magnet. The MAGNESWITCH is capable
of high accuracy position detection. The MAGNESWITCH boasts, among
others, the small size, light weight, high-speed response, and high
resistance to the environments. In addition, when the switch is on, the LED
lights to inform you that MAGNESWITCH is in operation.

I\

QO 7 Red

2R Vece —I—J—Hi (OFF)
v Lo (ON)

LED _~ e white LED AT
) ouT LED lights
7 GND
QO£ /Black

> —JL K /Shield sheath

ED)
¥2)
i%3)
E4)

OUT(A)IZVee(F) & W b BULWBEANMENL WL I IZTEFET L,
BERT D EWIBT DN DHY EFTOTHRERLTTEL,

5| & AAERISZOMALLTIZL TTF &L,

F—TETH A XA EELS— L FEAFEALTVWET, > —IL KRG
ERHBATEA— TR ->THY FTOTHEBRICEBL TIERT
Sy,

B e * » A w® B
Line color Red Black White | Braided wire
A WH(+ Vo) BE (OV) HNIES L= K
Function |Power supply | Power supply | Output Shield
(+ Vco) ov) signal .
HAOBEOEREEH /Output-stage resistance
#% 2% /Detector R LED
PK15 -1 1.0 kQ BR3822K
PK15 — 2 2.4 kQ (7 >L—)
PK15 - 3 4.8 kQ ( STANLEY )

Note: 1. Be sure that the voltage applied to OUT (white) is lower than
that applied to Vcc (red).

. Wrong wiring may lead to damages of the unit.

. Be sure that incoming current is 30 mA or less.

4. The cable is shielded for noise immunity. The shield is open

on the connecting side. Ground it for use.

w N

WOYVF7S5 v ADRE

@ 1% H 23 (PK15) & RREAE(PG-104) N2 ) 7 5 > AR

WAL IZDOWT

DEIZEEELTTE W,
A IN—%{FERT HE — 1+02mm
TAN—BFERLLVE —1+Zmm

P REA S BHARGECEC, FEOEER D

PM4x8TEIEL X7,

. RIZHHER (PK15) & BREE(PG-104) Do VT 5>
2EEREODZECEELLY L FRBOBER R Y
DPSW M4 X10TEZEL TF AL,

. 74 /8— (PZ3) #{FA T H5HA . HmHBOMERE

TAN—DMEE A —BT BHIC. TAN—%EE

LTTF&W,

7 4 /x—%#4 . NBR

B +PM4ax8
+P M4 x 8 Set screw

1

pER/ Rec\ess

SETTING OF CLEARANCE

@ Set the clearance between the PK15 and PG-104 as follows:
With the wiper — 1292 mm/0.039+0.008"
Without the wiper — 1*2 mm/0.039 +3.98°

ASSEMBLY

Mount the PG-104 magnet on the
movable side by means of the pro-
vided Phillips head P M4 x 8 screw.
2. Mount the detector (PK15) by
means of the provided Phillips head
PSW M4 x 10 screw with the
clearance of the detector to the

EE + < +PSW M4 X 10
+PSW M4 X 10 Set screw 1.

- 1R 2R/
PK15 Detector

\&%/Knob PG-104 magnet as specified above.
. ] 3. When the PZ3 wiper is used, mount
7 1 /X—PZ3 /PZ3 Wiper the wiper so that the detector's
REEPG-104 knobs engage in the wiper’'s

PG-104 Magnet recesses.

RHIBRME %R T I FReE
RHESRER © BT

* 2okt b v 2 /Screw tightening TORQUE
7~12kg-cm/6 t0 10.3 Ib-in

Material of Wiper: NBR
Material of PK15: Polyamide resin
Material of the PK15 inside: Stuffed with resin




WES 4% MODELS AND SPECIFICATIONS

] 5] SET-P15-1 SET-P15-2 SET-P15-3 Model SET-P15-1 SET-P15-2 SET-P15-3
%R PK15-1 PK15-2 PK15-3 Detector PK15-1 PK15-2 PK15-3
BEET DC 5V£10% DC 12V £10% DC 24V £10% Power supply 5VDC+10% 12VDC+10% 24VDC+10%
— — — M t -1
% W PG-104 pii’v”; PG-104
HBRE 10mA MAX consumption 10mA MAX
R —%A %Iert:&tlgr? Unidirectional
1 % ‘ 3 I, i 5& ape
ff K’ BLME Bum (Z1) Repeatability +0.003mm/=0.00012" _ (Note 1)
eV 22 10KHz MAX
— , Response 10kHz  MAX
(CI S NPNFS>225 F#—TaLsy requency
o 1F ERRON Circuit NPN transistor open collector
HPARE BA3| % - HBA0MA. TR0V Operation ON in proximity
b3 - - Contact Max. permissible current 30mA;
“EBE Isink, 30MARVoL=0.4VLLTF 2 | capacity Max. permissible voltage 30V
R VORI, B A S| fosioea! VoL = 0.4V max. with sink 30mA
BEEEE 75+2mm (VYT 5 A1mm) :
— Protector Surge killer
BIERRLT BIfEONBF  FRELEDAUT circuit Protector against reversed polarity
YT SUR 3mm MAX Operating range | 7.5 +2 mm/ 0.3" + 0.08" (Clearance 1 mm/0.039")
AR R ~10~60T Operation i i
= indication lamp Red LED lights when operating
RIFRERE —20~80T Clearance 3mm/0.12" MAX
= & A T
ﬁl%gﬁl_, |P67*ﬁé Opera“ng —10’\-'6000/14’\'1400[:
HEASIEH 10MQ (DC250V) (iE2) temperature
— Storage _ _ °
m ik & 5G (49m/S?). 0~500Hz temperature 20~80°C/—-4~176°F
w & % 100G (980m/S?) Protection .
Equivalent of IP67
r—TLE 15m (£3) structure d
Insulation
s =B 40g rosistance 10MQ (DC250V) (Note 2)
5 BIEA R SEP MAXE vveeenveeenniennes 2 Max. allowable 2
el B % S@PSW MAX10 -rvvvvvevernees 2 vibration 5G (49m/s?), 0v500H2
. |
) —REMHD YT 5L AImm, BEZHH12T LT, BEEHEI%LT, Max. allowable 100G (980m/s?)
BRESH AR Cable length 15m/59 (Note 3)
F2) @ﬂg#TZ =0 % Weight 40g/1.410z
o FiR — B Attached Phillips head P M4 x 8 screw ...... 2
#3) {BL. BEN4S — 7L A#ERF L T30m £ T5|@(E L aTEE accessories Phillips head PSW M4 x 10 screw 2
Note 1:  Condition— Clearance 1Tmm/0.039"
Temperature variation+1.2°C/+2.16°F or less
Voltage variation+1% Max.
Note 2: Between Outer casing (Resinous case) and Circuit
Between Shield wire and Circuit
W5 #~15%X/OUTSIDE DIMENSIONS (i o Unit:mm/Inch ) Note 3:  Extendible up to 30m/98.4’ by connecting the same cable.
8
ZHitk ~Magnet #1158  Detector 7.2/0.28 ° ® BI|5E 7 7 t+#1)—  Option
PG-104 PK 15 22
S —1°
N ; L 74 /3— /Wiper
38/1.54" © o o] TS pz3 °
z 28 T et
29/1.14" ) sl o L_ : -
~ A S £ ©| g
(r D olw ~ 24 . 2 i
D l 1S 6.5/0.26' 2 | .
_ Il 1/0.04" I o<
204 , 75| 14 g L] "l %
" ! ° (=]
20/0.79" o 03 055 . ST——
o o olS =T sz
f Sy U,I i 8+0.1/0.3" £0.004" g 4.5/018 43 o 12 9
° i e fig 0.118 dia, 047" 0.35°
.. e Fi ‘A
1 F A S =] T =
BEED——WEN T .
olo 28/1.10" | |5/0.2" —
5 Specifications and appearance of
S (33) 1500/59" | the products are subject to change
UNERBRRD-H—BFEL (- ABEEET I LHFHYVET, | - (1.307) for improvement without notice.

KA YT RRT—IV

T 108-6018 WE#MEREE2TH 15F 185 RIA U8 —2T 14 AH18ME

Magnescale Co., Ltd.
Shinagawa Intercity Tower A-18F, 2-15-1, Konan, Minato-ku, Tokyo 108-6018, Japan Brinted iff;&ﬁ

©1990 Magnescale Co., Ltd.
2-996-264-05



	表紙
	日本語
	一般的注意事項
	取り扱い上の注意
	概要
	出力回路図
	クリアランスの設定
	組立について
	種類と仕様
	外形寸法図

	English
	NOTES TO USERS
	General Precautions
	OPERATING CAUTIONS
	OUTLINE
	OUTPUT CIRCUIT DIAGRAM
	SETTING OF CLEARANCE
	ASSEMBLY
	MODELS AND SPECIFICATIONS
	OUTSIDE DIMENSIONS

	裏表紙

